One and Two Sample Proportion Examples

Example 1

The cancer treatment for a type of cancer produces remission 20% of the time.  An investigator wishes to prove that a new method is better.

Given: 

n = 100
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Suppose 26 of the 100 patients go into remission.

Carry out the hypothesis test.

Example 2

Taste Test.  Does Murray’s Vanilla Wafer taste worse than Nabisco?  

Given:

n = 250
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Suppose 42 of the 250 chose Murray’s

Carry out the hypothesis test.  Compute a 95% confidence interval for P.

Example 3
Effect of Coating on Seed Germination; Home and Garden claims that the probability of germination is greater in seeds with coating than those without coating.

Given:

Treatment 1:
Seeds with coating

Treatment 2:
Seeds without coating

Characteristic:
Seed Germination
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Carry out the hypothesis test.

Compute the 95% confidence interval for 
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